

# Application of the Abel integral equation to an inverse problem in thermoelectricity

GIOVANNI CIMATTI

*Dipartimento di Matematica, Largo Bruno Pontecorvo 5, Pisa, Italy*  
*email: cimatti@dm.unipi.it*

(Received 11 March 2009; revised 8 September 2009)

This paper deals with a new method to determine the dependence of the electrical conductivity of metals or semiconductors on temperature. It is based on the fact that the current–voltage relationship is easily measurable. This inverse problem is solved by the classical Abel integral equation.

## 1 Introduction

The ratio between the electric conductivity  $\sigma$  and the thermal conductivity  $\kappa$  is the same for all metals and depends linearly on the absolute temperature  $u$ :

$$\frac{\kappa}{\sigma} = Lu, \quad (1.1)$$

where  $L$  is the Lorenz number. This law, found experimentally by G. Wiedemann and R. Franz [12], is only approximately true for semiconductors, ceramics and polymers for which, however, a ‘generalised Wiedemann–Franz law’ holds:

$$\frac{\kappa}{\sigma} = L(u)u, \quad (1.2)$$

where  $L(u)$  is the Lorenz function (see e.g. [7]). On the other hand, the dependence on the temperature of the electric and thermal conductivities is quite simple in metals; more precisely we have [6]

$$\sigma(u) = \frac{C_\sigma}{u}, \quad \kappa(u) = C_\kappa, \quad (1.3)$$

where  $C_\sigma$  and  $C_\kappa$  are positive constants which depend on the metal, whereas in semiconductors the electric and thermal conductivities laws are more complex.

If we assume  $\sigma(u)$  and  $\kappa(u)$  to be given functions of the temperature, the electric potential  $\varphi(\mathbf{x})$ ,  $\mathbf{x} = (x, y, z)$  and the temperature  $u(\mathbf{x})$  inside a three-dimensional conductor to which a difference of potential  $V$  is applied are determined by the following boundary value problem (P) [6]:

$$\nabla \cdot (\sigma(u)\nabla v) = 0 \text{ in } \Omega, \quad (1.4)$$

$$\nabla \cdot (\kappa(u)\nabla u) + \sigma(u)\beta(u)\nabla u \cdot \nabla v + \sigma(u)|\nabla v|^2 = 0 \text{ in } \Omega, \quad (1.5)$$

$$v = 0 \text{ on } \Gamma_1, v = V \text{ on } \Gamma_2, \frac{\partial v}{\partial n} = 0 \text{ on } \Gamma_0, \tag{1.6}$$

$$u = \bar{u} \text{ on } \Gamma_1 \cup \Gamma_2, \frac{\partial u}{\partial n} = 0 \text{ on } \Gamma_0, \bar{u} > 0. \tag{1.7}$$

$v$  is the effective potential, given by

$$v = \varphi + \int_{\bar{u}}^u \alpha(t) dt, \tag{1.8}$$

where  $\alpha(u)$  (also a given function of the temperature) accounts for the Thomson effect and

$$\beta(u) = u\alpha'(u). \tag{1.9}$$

In (1.5) and (1.5)  $\Omega$  is an open and bounded subset of  $\mathbf{R}^3$  with a regular boundary  $\Gamma$  consisting of three parts  $\Gamma_i, i = 0, 1, 2$ .  $\Gamma_1$  and  $\Gamma_2$  are disjoint and represent the electrodes to which the difference of potential  $V$  is applied, and  $\Gamma_0$  is the electrically and thermally insulated part of the body. We note that, in view of the maximum principle, we have  $u(\mathbf{x}) \geq \bar{u}$  for any regular solution of problem  $(P)$ . Moreover, in problem  $(P)$  the temperature is assumed to be the constant  $\bar{u}$  on  $\Gamma_1 \cup \Gamma_2$ . Thus the boundary conditions are quite special; however, with this assumption, a nearly complete integration of this boundary value problem is possible.

In Section 2, after explaining how problem  $(P)$  can be integrated, we address the following inverse problem: reconstruct  $\sigma(u)$  from the easily measured current–voltage relation  $I = f(V)$  and from the knowledge of the Lorenz function  $L(u)$  entering in (1.2).  $I$  is the total current crossing the device and is given by

$$I = \int_{\Gamma_2} \mathbf{J} \cdot \mathbf{n} dS, \tag{1.10}$$

where  $\mathbf{n}$  is the exterior pointing unit vector normal to  $\Gamma_1 \cup \Gamma_2$  and

$$\mathbf{J} = -\sigma(u)\nabla v \tag{1.11}$$

is the current density. We prove that  $\sigma(u)$  is the solution of a generalised Abel integral equation [11]

$$\mathcal{F}(x) = \int_0^x \frac{G(x, z)\sigma(z) dz}{\sqrt{x - z}}. \tag{1.12}$$

If we neglect the Thompson effect, (1.12) reduces to the classical Abel equation [1]

$$\mathcal{F}(x) = \int_0^x \frac{\sigma(z) dz}{\sqrt{x - z}}, \tag{1.13}$$

which has a simple explicit solution [9, 10]. In Sections 3 and 4 we deal with two special cases. As pointed out by a referee, the integral solution of this paper could be useful in the so-called ‘spot-welding problem’.

**2 Solution of the direct and of the inverse problems**

Let us assume  $\sigma(u)$ ,  $\kappa(u)$  and  $\beta(u)$  to be given  $C^1([\bar{u}, \infty))$  functions satisfying  $\sigma(u) > 0$ ,  $\kappa(u) > 0$  for  $u \geq \bar{u}$  and

$$\int_{\bar{u}}^{\infty} \frac{\kappa(t)}{\sigma(t)} dt = \infty, \quad \left| \frac{\beta(u)\sigma(u)}{\kappa(u)} \right| \leq C_1 \text{ for all } u \geq \bar{u}. \tag{2.1}$$

If  $(v(\mathbf{x}), u(\mathbf{x}))$  is a solution of problem (P), by (1.5) we have

$$\nabla \cdot (v\sigma(u)\nabla v) = \sigma(u)|\nabla v|^2$$

and

$$\nabla \cdot \left[ \sigma(u) \left( \int_{\bar{u}}^u \beta(t) dt \right) \nabla v \right] = \sigma(u)\beta(u)\nabla u \cdot \nabla v.$$

Therefore, (1.5) can be rewritten in divergence form as follows:

$$\nabla \cdot \left\{ \sigma(u) \left[ v\nabla v + \frac{\kappa(u)}{\sigma(u)}\nabla u + \int_{\bar{u}}^u \beta(t) dt \nabla v \right] \right\} = 0. \tag{2.2}$$

In view of the special boundary conditions of problem (P), we make the ‘ansatz’ of the existence between  $u$  and  $v$  of a functional relation  $u = U(v)$  so that  $u(\mathbf{x}) = U(v(\mathbf{x}))$ . Define

$$\theta = \frac{v^2}{2} + \int_{\bar{u}}^u \frac{\kappa(t)}{\sigma(t)} dt + \int_0^v \left[ \int_{\bar{u}}^{U(\xi)} \beta(t) dt \right] d\xi. \tag{2.3}$$

Thus (2.2) becomes

$$\nabla \cdot (\sigma(u)\nabla\theta) = 0. \tag{2.4}$$

Moreover,  $\theta(\mathbf{x})$  satisfies the boundary conditions

$$\theta = 0 \text{ on } \Gamma_1, \quad \theta = \tilde{C} \text{ on } \Gamma_2, \quad \frac{\partial\theta}{\partial n} = 0 \text{ on } \Gamma_0, \tag{2.5}$$

where

$$\tilde{C} = \frac{V^2}{2} + \int_0^V \left[ \int_{\bar{u}}^{U(\xi)} \beta(t) dt \right] d\xi.$$

Since the functional relation  $U(v)$  is not known,  $\tilde{C}$  is an unknown constant. We claim that  $\theta$  and  $v$  are related by the functional relation

$$\theta = \frac{\tilde{C}}{V}v. \tag{2.6}$$

Indeed, we have

$$\nabla \cdot (\sigma(U(v))\nabla\theta) = 0 \text{ in } \Omega, \quad \theta = 0 \text{ on } \Gamma_1, \quad \theta = \tilde{C} \text{ on } \Gamma_2, \quad \frac{\partial\theta}{\partial n} = 0 \text{ on } \Gamma_0 \tag{2.7}$$

and

$$\nabla \cdot (\sigma(U(v))\nabla v) = 0 \text{ in } \Omega, \quad v = 0 \text{ on } \Gamma_1, \quad v = V \text{ on } \Gamma_2, \quad \frac{\partial v}{\partial n} = 0 \text{ on } \Gamma_0. \tag{2.8}$$

This system is uncoupled, and it is easy to see that the solution  $v(\mathbf{x})$  of (2.8) is unique as follows. Define the Kirchhoff transformation

$$w = \mathcal{Q}(v), \quad \mathcal{Q}(v) = \int_0^v \sigma(U(t)) dt.$$

$\mathcal{Q}$  maps  $[0, V]$  one-to-one onto  $[0, \mathcal{Q}(V)]$ . If  $w(\mathbf{x})$  is the solution of the mixed problem

$$\Delta w = 0 \text{ in } \Omega, \quad w = 0 \text{ on } \Gamma_1, \quad w = \mathcal{Q}(V) \text{ on } \Gamma_2, \quad \frac{\partial w}{\partial n} = 0 \text{ on } \Gamma_0,$$

then  $v(\mathbf{x}) = \mathcal{Q}^{-1}(w(\mathbf{x}))$  is the only solution of the problem (2.8). Thus we obtain (2.6) since  $\theta(\mathbf{x}) = \frac{\check{c}}{v} v(\mathbf{x})$  solves (2.7). From (2.3) we have, setting  $\gamma = \frac{\check{c}}{v}$ ,

$$\gamma v = \frac{v^2}{2} + \int_{\bar{u}}^u \frac{\kappa(t)}{\sigma(t)} dt + \int_0^v \left[ \int_{\bar{u}}^{U(\xi)} \beta(t) dt \right] d\xi. \tag{2.9}$$

Taking the derivative with respect to  $v$  of (2.9) and defining

$$B(u) = \int_{\bar{u}}^u \beta(t) dt,$$

we obtain for  $U(v)$  the ordinary differential equation

$$\frac{\kappa(U)}{\sigma(U)} \frac{dU}{dv} = \gamma - v - B(U), \tag{2.10}$$

which must be supplemented with the conditions

$$U(0) = \bar{u}, \quad U(V) = \bar{u}. \tag{2.11}$$

In view of (2.1), the two-point boundary value problem (2.10), (2.11) has one and only one solution  $U(v)$ . We refer to [2] for the proof. Once  $U(v)$  is known, problem (P) is easily solved. Indeed, let us consider again the problem

$$\nabla \cdot (\sigma(U(v)) \nabla v) = 0 \text{ in } \Omega, \quad v = 0 \text{ on } \Gamma_1, \quad v = V \text{ on } \Gamma_2, \quad \frac{\partial v}{\partial n} = 0 \text{ on } \Gamma_0. \tag{2.12}$$

Define

$$\psi = G(v), \quad G(v) = \int_0^v \sigma(U(\xi)) d\xi, \quad \psi_2 = G(V). \tag{2.13}$$

$G$  maps  $[0, V]$  one-to-one onto  $[0, \psi_2]$ . If  $\psi(\mathbf{x})$  solves the problem

$$\Delta \psi = 0 \text{ in } \Omega, \quad \psi = 0 \text{ on } \Gamma_1, \quad \psi = \psi_2 \text{ on } \Gamma_2, \quad \frac{\partial \psi}{\partial n} = 0 \text{ on } \Gamma_0, \tag{2.14}$$

by the maximum principle we have

$$0 \leq \psi(\mathbf{x}) \leq \psi_2 \text{ in } \bar{\Omega}. \tag{2.15}$$

Defining

$$v(\mathbf{x}) = G^{-1}(\psi(\mathbf{x})) \text{ and } u(\mathbf{x}) = U(v(\mathbf{x})), \tag{2.16}$$

we obtain a solution to problem (P). Let  $w(\mathbf{x})$  be the solution of the problem

$$\Delta w = 0 \text{ in } \Omega, w = 0 \text{ on } \Gamma_1, w = 1 \text{ on } \Gamma_2, \frac{\partial w}{\partial n} = 0 \text{ on } \Gamma_0, \tag{2.17}$$

then

$$\psi(\mathbf{x}) = \psi_2 w(\mathbf{x}). \tag{2.18}$$

Define

$$k = \int_{\Gamma_2} \frac{\partial w}{\partial n} dS. \tag{2.19}$$

By (2.13) and (2.18), we have

$$\nabla \psi = \psi_2 \nabla w = \sigma(u(\mathbf{x})) \nabla v. \tag{2.20}$$

Hence, the total current crossing the conductor is

$$I = k \int_0^V \sigma(U(\xi)) d\xi. \tag{2.21}$$

As an example we apply the theory to the simple, but important case of metals in which the Wiedemann–Franz law (1.1) holds, the Thomson effect is neglected,  $\beta(u) = 0$  and

$$\sigma(u) = \frac{C_\sigma}{u}, \kappa(u) = C_\kappa, L = \frac{C_\kappa}{C_\sigma}, \tag{2.22}$$

where  $C_\sigma$  and  $C_\kappa$  are constants typical of the metal. Problem (2.10), (2.11) becomes

$$LU \frac{dU}{dv} = \gamma - v, U(0) = \bar{u}, U(V) = \bar{u},$$

which is easily solved by separation of variables and has as the solution

$$U(v) = \sqrt{\frac{L\bar{u}^2 + Vv - v^2}{L}}. \tag{2.23}$$

Computing the total current with (2.21), we find

$$I = 2k\sqrt{L}C_\sigma \arctan\left[\frac{V}{2\sqrt{L\bar{u}^2}}\right]. \tag{2.24}$$

Thus the total current remains bounded as  $V \rightarrow \infty$  in sharp contrast with the total current  $I = k\sigma V$ , which we obtain if  $\sigma$  is a constant.

To treat the inverse problem of reconstructing  $\sigma(u)$  we shall use the two following elementary lemmas.

**Lemma 1** *Let  $y = f(x) \in C^3((-\delta, \delta))$  be such that*

$$f(0) = 0, f'(0) = 0, f''(0) > 0. \tag{2.25}$$

Let  $\mathcal{H}_1(y)$  and  $\mathcal{H}_2(y)$  be the two branches of the local inverse function of  $y = f(x)$  for  $0 \leq y \leq \mu$ ,  $0 \leq x \leq \eta$ , and  $0 \leq y \leq \mu$ ,  $-\eta \leq x \leq 0$ , respectively,  $\mu > 0$ ,  $\eta > 0$ . Then

$$\lim_{y \rightarrow 0^+} \mathcal{H}'_1(y)\sqrt{y} = (2f''(0))^{-1/2}, \quad \lim_{y \rightarrow 0^+} \mathcal{H}'_2(y)\sqrt{y} = -(2f''(0))^{-1/2}. \tag{2.26}$$

**Proof** We have

$$\lim_{y \rightarrow 0^+} \frac{\sqrt{y}}{\mathcal{H}_1(y)} = \lim_{x \rightarrow 0} \sqrt{\frac{f(x)}{x^2}} = \sqrt{\frac{f''(0)}{2}}. \tag{2.27}$$

On the other hand,

$$\sqrt{y}\mathcal{H}'_1(y) = \frac{\sqrt{y}}{f''(0)\mathcal{H}_1(y) + \lambda(\mathcal{H}_1(y))}, \tag{2.28}$$

for some function  $\lambda(x)$  satisfying

$$\lim_{y \rightarrow 0^+} \frac{\lambda(\mathcal{H}_1(y))}{\mathcal{H}_1(y)} = 0. \tag{2.29}$$

Hence (2.26)<sub>1</sub> follows from (2.27), (2.28) and (2.29). Similarly we obtain (2.26)<sub>2</sub>. □

**Lemma 2** Let  $U(v)$  be the solution of problem (2.10), (2.11). Then

$$U(v) \text{ has only one point of maximum } v_M \in (0, V), \tag{2.30}$$

$$U'(v) > 0 \text{ for } v \in [0, v_M), \quad U'(v) < 0 \text{ for } v \in (v_M, V]. \tag{2.31}$$

**Proof** From (2.10) it follows that

$$\text{if } v^* \in (0, V) \text{ and } U'(v^*) = 0 \text{ then } U''(v^*) < 0. \tag{2.32}$$

Let  $v_m$  and  $v_M$  be, respectively, the points of absolute minimum and maximum of  $U(v)$  in  $[0, V]$ ;  $v_m \notin (0, V)$ , since, if  $v_m \in (0, V)$  we have  $U'(v_m) = 0$  and  $U''(v_m) \geq 0$  contradicting (2.32). Hence  $v_m \in \{0, V\}$ ,  $U(v) > \bar{u}$  in  $(0, V)$  and  $v_M \in (0, V)$ . On the other hand,  $U(v)$  cannot have points of relative maximum or minimum in  $(0, V)$ . Relative minima are excluded by (2.32) and relative maxima  $v_{rM}$  are also not possible since they would imply the existence of a relative minimum between  $v_{rM}$  and  $v_M$ . □

**Theorem 1** Let  $U(v, V)$  be the solution to problem (2.10), (2.11). Then there exists a continuous function  $G(x, z)$ ,  $0 \leq z < x$ , such that

$$\int_0^V \sigma(U(v, V)) dv = \int_0^{M(V)} \frac{G(M(V), z)\sigma(z)}{\sqrt{M(V) - z}} dz \tag{2.33}$$

with

$$M(V) = U(v_M(V), V). \tag{2.34}$$

Moreover,

$$G(z, z) \neq 0. \tag{2.35}$$

**Proof** Let  $v = \mathcal{H}_1(z, V)$ ,  $0 \leq z < M(V)$ ,  $0 \leq v < v_M$  and  $v = \mathcal{H}_2(z, V)$ ,  $0 \leq z < M(V)$ ,  $v_M < v \leq V$ , be the two branches of the inverse function of  $U(v, V)$ . By (2.26)

$$\lim_{z \rightarrow M(V)^-} \mathcal{H}'_i(z, V) \sqrt{M(V) - z} \neq 0, \quad i = 1, 2. \tag{2.36}$$

We have

$$\int_0^V \sigma(U(v, V)) dv = \int_0^{v_M} \sigma(U(v, V)) dv + \int_{v_M}^V \sigma(U(v, V)) dv. \tag{2.37}$$

By (2.26) the functions  $\mathcal{H}_1(z, V)$  and  $\mathcal{H}_2(z, V)$  are absolutely continuous. Therefore, the substitution  $z = U(v, V)$  in (2.37) is admissible. This gives

$$\int_0^V \sigma(U(v, V)) dv = \int_0^{M(V)} \sigma(z) \left[ \mathcal{H}'_1(z, V) - \mathcal{H}'_2(z, V) \right] dz. \tag{2.38}$$

By Lemmas 1 and 2, there exists a continuous function  $G(x, z)$  such that

$$\left( \mathcal{H}'_1(z, V) - \mathcal{H}'_2(z, V) \right) \sqrt{M(V) - z} = G(M(V), z). \tag{2.39}$$

Thus (2.33) and (2.35) follow. □

Let us assume that

$$x = M(V) \text{ is globally invertible} \tag{2.40}$$

and define the function

$$\mathcal{F}(x) = \frac{1}{k} f(M^{-1}(x)). \tag{2.41}$$

Using (2.33) the inverse problem of reconstructing  $\sigma(u)$  from the current–voltage characteristic  $I = f(V)$  is reduced to the search of a solution of the generalised Abel integral equation

$$\mathcal{F}(x) = \int_0^x \frac{G(x, z) \sigma(z)}{\sqrt{x - z}} dz, \tag{2.42}$$

which in turn can be transformed into a Volterra integral equation of the first kind (see [11] p. 60) for which a fully developed theory exists [10]. In particular, in view of (2.35), the integral equation (2.42) has one and only one solution. The condition (2.40), probably true in general, is certainly satisfied in the following two important cases in which (2.10) has an integrating factor.

### 3 Determination of the electric conductivity in the thermistor problem

In this section the generalised Wiedemann–Franz law (1.2) is assumed and the Thomson effect neglected; thus we set  $\beta(u) = 0$ . In this case problem (P) is known as the ‘thermistor problem’ and has been thoroughly investigated in recent years. We refer in this connection to the books [5] and [8]. In this case problem (2.10), (2.11) is reduced to

$$\frac{\kappa(U)}{\sigma(U)} \frac{dU}{dv} = \gamma - v, \quad U(0) = \bar{u}, \quad U(V) = \bar{u}. \tag{3.1}$$

If we define a new scale for the temperature setting

$$\xi = F(U) = \int_{\bar{u}}^U \frac{\kappa(t)}{\sigma(t)} dt, \quad U \geq \bar{u}, \tag{3.2}$$

problem (3.1) is easily solved and we find as solution

$$U(v, V) = F^{-1} \left( \frac{Vv}{2} - \frac{v^2}{2} \right). \tag{3.3}$$

We note that the constant  $\gamma$  disappears in (3.3) since it has been used to satisfy, together with the constant of integration, the two boundary conditions of problem (3.1). To solve the integral equation

$$\frac{1}{k} f(V) = \int_0^V \sigma \left( F^{-1} \left( \frac{Vv}{2} - \frac{v^2}{2} \right) \right) dv \tag{3.4}$$

in the unknown  $\sigma(u)$  it is more convenient to proceed in a slightly different way from that of Theorem 1. So, let us define

$$\tilde{\sigma}(u) = \sigma(F^{-1}(u)). \tag{3.5}$$

Thus (3.4) can be rewritten as

$$\frac{1}{k} f(V) = \int_0^V \tilde{\sigma} \left( \frac{Vv}{2} - \frac{v^2}{2} \right) dv.$$

With the change of variable of integration  $\zeta = v - \frac{V}{2}$  we obtain

$$\frac{1}{k} f(V) = 2 \int_0^{V/2} \tilde{\sigma} \left( \frac{V^2}{8} - \frac{\zeta^2}{2} \right) d\zeta. \tag{3.6}$$

With the further change of variable

$$z = \frac{V^2}{8} - \frac{\zeta^2}{2}, \tag{3.7}$$

we have

$$\frac{1}{k} f(V) = \sqrt{2} \int_0^{\frac{V^2}{8}} \frac{\tilde{\sigma}(z)}{\sqrt{\frac{V^2}{8} - z}} dz. \tag{3.8}$$

Setting

$$x = \frac{V^2}{8} \text{ and } \mathcal{F}(x) = \frac{1}{k\sqrt{2}} f(2\sqrt{2x}), \tag{3.9}$$

(3.8) transforms into

$$\mathcal{F}(x) = \int_0^x \frac{\tilde{\sigma}(z)}{\sqrt{x-z}} dz. \tag{3.10}$$

In this case we arrive at the classical Abel equation. Assuming  $\mathcal{F}(x)$  to be of class  $C^1$ , we have from [9], since  $\mathcal{F}(0) = 0$ ,

$$\tilde{\sigma}(x) = \frac{1}{\pi} \int_0^x \frac{\mathcal{F}'(t)}{\sqrt{x-t}} dt \tag{3.11}$$



or, in terms of the original scale of temperature,

$$\sigma(u) = \frac{1}{\pi} \int_0^{F(u)} \frac{\mathcal{F}'(t)}{\sqrt{F(u)-t}} dt. \tag{3.12}$$

**Remark.** In (3.12)  $\sigma$  seems to depend on the constants  $\bar{u}$  and  $k$ . However, one has to remember that  $f(u)$  is an experimental datum which in turn varies with  $\bar{u}$  and  $k$ . But if, for example, we take  $I = f(V)$  with  $f$  given by (2.24), from (3.12) we obtain  $\sigma(u) = C_\sigma/u$ , which depends neither on  $\bar{u}$  nor on  $k$ .

#### 4 The inverse problem with the Thomson effect

A second case of integrability of (2.10) occurs when

$$\frac{\kappa(u)}{\sigma(u)} = Lu \text{ and } \beta(u) = Cu. \tag{4.1}$$

Setting  $\tau = C/L$ , we have

$$\beta(u) = \tau \frac{\kappa(u)}{\sigma(u)}. \tag{4.2}$$

Under these assumptions, (2.10) has the integrating factor  $e^{\tau v}$  and the first integral

$$F(u) + \frac{1}{\tau}v - \frac{1}{\tau^2} - \frac{\gamma}{\tau} = C_1 e^{-\tau v}, \tag{4.3}$$

where, by (4.1)<sub>1</sub>,

$$F(u) = \int_{\bar{u}}^u \frac{\kappa(t)}{\sigma(t)} dt = \frac{L}{2}(u^2 - \bar{u}^2), \quad u \geq \bar{u}. \tag{4.4}$$

Computing in (4.3)  $\gamma$  and  $C_1$ , with the help of (2.11) we obtain, as solution of problem (2.10), (2.11),

$$U(v, V) = F^{-1}(H(v, V)), \tag{4.5}$$

where

$$H(v, V) = \frac{V}{\tau} \frac{1 - e^{-\tau v}}{1 - e^{-\tau V}} - \frac{v}{\tau}. \tag{4.6}$$

Set

$$\tilde{\sigma}(\xi) = \sigma(F^{-1}(\xi)), \quad \xi \geq 0. \tag{4.7}$$

The integral equation to be solved is now

$$\frac{1}{k}f(V) = \int_0^V \tilde{\sigma}(H(v, V)) dv \tag{4.8}$$

in the unknown  $\tilde{\sigma}(\xi)$ . Let  $v_{\mathcal{M}}$  be the unique point of maximum of  $H(v, V)$  in  $(0, V)$  and  $\mathcal{M}(V) = H(v_{\mathcal{M}}, V)$ . Let

$$v = \mathcal{H}_1(z, V), \quad 0 \leq z \leq \mathcal{M}(V), \quad 0 \leq v \leq v_{\mathcal{M}}, \tag{4.9}$$

$$v = \mathcal{H}_2(z, V), \quad 0 \leq z \leq \mathcal{M}(V), \quad v_{\mathcal{M}} \leq v \leq V \tag{4.10}$$

be the two branches of the inverse function of  $H(v, V)$ .  $\mathcal{H}_1(z, V)$  and  $\mathcal{H}_2(z, V)$  can be explicitly computed in terms of the Lambert functions  $W_0(z)$ ,  $W_{-1}(z)$ . For the properties of the Lambert function we refer to [3]. For a short but clearly written description we suggest visiting Wikipedia. Setting

$$A(z, V) = \frac{\tau V e^{\frac{\tau(V - \tau z + z\tau e^{-\tau V})}{e^{-\tau V} - 1}}}{e^{-\tau V} - 1}$$

we have

$$\mathcal{H}_1(z, V) = \frac{\left[ W_0(A(z, V)) e^{-\tau V} - W_0(A(z, V)) + \tau V - z\tau^2 + z\tau^2 e^{-\tau V} \right]}{\tau(e^{-\tau V} - 1)}$$

and

$$\mathcal{H}_2(z, V) = \frac{\left[ W_{-1}(A(z, V)) e^{-\tau V} - W_{-1}(A(z, V)) + \tau V - z\tau^2 + z\tau^2 e^{-\tau V} \right]}{\tau(e^{-\tau V} - 1)}.$$

Using (4.9) and (4.10) we obtain

$$\begin{aligned} \int_0^V \tilde{\sigma}(H(v, V)) dv &= \int_0^{v_{\mathcal{M}}} \tilde{\sigma}(H(v, V)) dv + \int_{v_{\mathcal{M}}}^V \tilde{\sigma}(H(v, V)) dv \\ &= \int_0^{\mathcal{M}(V)} \tilde{\sigma}(z) \left[ \mathcal{H}'_1(z, V) - \mathcal{H}'_2(z, V) \right] dz. \end{aligned} \quad (4.11)$$

On the other hand,

$$\lim_{z \rightarrow \mathcal{M}(V)} \left[ \mathcal{H}'_1(z, V) - \mathcal{H}'_2(z, V) \right] \sqrt{\mathcal{M}(V) - z} = \frac{1}{\sqrt{2}}.$$

Thus there exists a continuous function  $G(x, z)$  in  $0 \leq z \leq x$  such that we have

$$\mathcal{H}'_1(z, V) - \mathcal{H}'_2(z, V) = \frac{G(\mathcal{M}(V), z)}{\sqrt{\mathcal{M}(V) - z}}.$$

In this way the integral equation (4.8) becomes

$$\frac{1}{k} f(V) = \int_0^{\mathcal{M}(V)} \frac{G(\mathcal{M}(V), z) \tilde{\sigma}(z)}{\sqrt{\mathcal{M}(V) - z}} dz. \quad (4.12)$$

Since the function  $x = \mathcal{M}(V)$  is globally invertible, we can define

$$\mathcal{F}(x) = \frac{1}{k} f(\mathcal{M}^{-1}(x)),$$

obtaining finally from (4.12) the Abel equation

$$\mathcal{F}(x) = \int_0^x \frac{G(x, z) \tilde{\sigma}(z)}{\sqrt{x - z}} dz.$$

## 5 Conclusion

The solution given by N. H. Abel to the integral equation which bears his name dates back to the beginning of the 19th century; however, this result is still capable of applications in fields as diverse as stereology and spectroscopy, to quote only a few (see [4]). The possibility of reconstructing the temperature–conductivity dependence in a thermistor from the current–voltage characteristic is yet another confirmation of the permanency of Abel's result.

## References

- [1] ABEL, N. H. (1826) Résolution d'un problème de mécanique. *Journal für die reine und angewandte Mathematik* **1**, 97–101.
- [2] CIMATTI, G. (in press) The mathematics of the Thomson effect, *Quart. Appl. Math.*
- [3] CORLESS, R. M., GONNET, G. H., HARE, D. E. G., JEFFREY, D. J. & KNUTH, D. E. (1996) On Lambert W function, *Adv. Comput. Math.* **5**, 329–359.
- [4] GERONFLO, R. & VESSELLA, S. (1991) *Abel Integral Equation: Analysis and Applications*, Springer-Verlag, Berlin.
- [5] HOWISON, S. (2005) *Practical Applied Mathematics*, Cambridge Texts in Applied Mathematics, Cambridge University Press, New York.
- [6] LANDAU, L. & LIFCHITZ, E. (1969) *Électrodynamique des Milieux Continus*, Éditions MIR, Moscow.
- [7] MARCIÁ, E. & RODRÍGUEZ-OLIVEROS, R. (2007) Theoretical assessment on the validity of the Wiedemann–Franz law for icosahedral quasicrystals, *Phys. Rev. B* **75**, 1042210.
- [8] OCKENDON, J., HOWISON, S., LACEY, A. & MOVCHAN, A. (1999) *Applied Partial Differential Equations*, Oxford University Press, Oxford.
- [9] TONELLI, L. (1928) Su un problema di Abel, *Math. Ann.* **99**, 125–134.
- [10] TRICOMI, F. G. (1957) *Integral Equations*, Dover Company, London.
- [11] VOLTERRA, V. (1913) Leçons sur les Équations Intégrales et les Équations Intégré-différentielles, Gauthier-Villars, Paris.
- [12] WIEDEMANN, G. & FRANZ, R. (1853) Über die Wärme-leitungsfähigkeit der Metalle, *Annalen der Physik* **89**, 497–531.